Answer Key
Homework #2
PSY 211

35pts

9/12/07
Show all of your work for any calculations.  You may not work together when trying to solve specific problems.
1. [2pt] Which of these correlations is the strongest?
A) r = 0.3     B) r = -1.2     C) r = 0.7     D) r = -1.0
2.  [2pt] You design a study examining the effects of smoking cigarettes on attention, and randomly assign 30 CMU students to either smoke or not smoke prior to taking an attention test.  The students in the study represent:
A) a population     B) a parameter     C) a sample     D) a statistic

3. [2pt] In the study described in #2, what is the dependent variable?

A) cigarette smoking     B) number of students     C) attention
4. [2pt] The average IQ in the United States is 100.  However, upon administering IQ tests to a random sample of 10 adults, you find that the average IQ is 102.  This best illustrates:
A) descriptive statistics     B) inferential statistics     C) sampling error     D) datum

5. [2pt] For a study, you want to measure “happiness” so you count how many times participants smile per hour.  The concept of “happiness” is called:
A) a construct     B) a constant     C) operational definition     D) confounding variable

6. [7pts] For a study, you measure “popularity” by counting the number of phone calls each participant receives per day.  Your study includes 8 participants, and their data are below:



X (Number of Calls):  9  10  0  4  2  8  3  10  
Calculate the following: ΣX, ΣX2, (ΣX)2, ΣX – 1, Σ(X – 1), (ΣX)2 – 1, (ΣX – 1)2
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     a)  ΣX = 46
        b)  ΣX2 = 374

e) Σ(X – 1) = 38


c)  (ΣX)2 = 462 = 2116


d)  ΣX - 1 = 46 – 1 = 45

f)  (ΣX)2 – 1 = 2116-1 = 2115


g)  (ΣX – 1)2 = 452 = 2025

7. You ask 30 CMU students how many nights they spent drinking alcohol in the past week.  Their responses are below:

X (Number of Nights Drinking):
0  3  1  2  0  1  
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a. [4pts] Place the scores in a frequency distribution table (include X, f, cf, c%).


b. [2pts] Sketch a histogram of the distribution.


c. [2pt] What is the shape of the distribution?


d. [1pt] What percentage of students drink 2 nights per week or fewer?

e. [1pt] What percentage of students drink at least 6 nights per week?
Put them in order to make this process easier:

0 0 0 0 0 0 0 0 1 1 1 1 1 1 1 1 2 2 2 2 2 2 3 3 4 4 5 5 6 7 
a)  Frequency distribution table:
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b) histogram – should look something like this:
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	f
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	0
	1
	2
	3
	4
	5
	6
	7

	
	
	
	
	X
	
	
	
	


c) positive skew
d) For X=2, c% = 73%
e) For X=5, c% = 93%, so 7% are higher

8. [3pts] The number of points basketball player Rasheed Wallace scored in 16 playoff games are as follows:

X (Number of Points): 11  17  9  16  16  15  16  15  14  16  10  13  13  15  17  16

Find the mean, median, and mode.
Put in order to make easier:

9  10  11  13  13  14  15  15  15  16  16  16  16  16  17  17
Mean = Sum / N = 229 / 16 = 14.31
Median = middle number = 15
Mode = most common number = 16
9. [5pts] You test a sample of 5 CMU students to determine how many animal crackers they can fit in their mouths.  Their scores are as follows:

X (Number of Animal Crackers):  13  16  14  8  15
Find the mean, median, mode, range, and standard deviation.

Put in order to make easier:


8  13  14  15  16

Mean = Sum / N = 66 / 5 = 13.2
Median = middle number = 14
Mode = most common number = no mode

Range = 1 + biggest – smallest = 1 + 16 – 8 = 9

Standard deviation = 
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(X - M)2 = 7.84 + 3.24 + 0.64 + 0.04 + 27.04 = 38.8
n – 1 = 5 – 1 = 4

Variance = (X - M)2 / (n – 1) = 38.8 / 4 = 9.7

Standard deviation = square root of the variance = 
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= 3.11
Square first, then sum
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